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QUESTION 217 
Which three methods does Cisco DNA Centre use to discover devices? (Choose three) 
 

A. CDP 

B. SNMP 

C. LLDP 

D. ping 

E. NETCONF 

F. a specified range of IP addresses 

 
Answer: ACF 
Explanation: 

 
 
QUESTION 218 
Refer to the exhibit. Which command when applied to the Atlanta router reduces type 3 LSA flooding into the backbone 
area and summarizes the inter-area routes on the Dallas router? 
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A. Atlanta(config-route)#area 0 range 192.168.0.0 255.255.248.0 

B. Atlanta(config-route)#area 0 range 192.168.0.0 255.255.252.0 

C. Atlanta(config-route)#area 1 range 192.168.0.0 255.255.252.0 

D. Atlanta(config-route)#area 1 range 192.168.0.0 255.255.248.0 

 
Answer: C 
 
QUESTION 219 
Refer to the exhibit. An engineer is installing a new pair of routers in a redundant configuration. Which protocol ensures 
that traffic is not disrupted in the event of a hardware failure? 

 
 

A. HSRPv1 

B. GLBP 

C. VRRP 

D. HSRPv2 

 
Answer: B 
 
QUESTION 220 
An engineer must configure interface GigabitEthernet0/0 for VRRP group 10. When the router has the highest priority in 
the group, it must assume the master role. Which command set must be added to the initial configuration to accomplish 
this task? 
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A. vrrp 10 ip 172.16.13.254 
vrrp 10 preempt 

B. standby 10 ip 172.16.13.254 
standby 10 priority 120 

C. vrrp group 10 ip 172.16.13 254.255.255.255.0 
vrrp group 10 priority 120 

D. standby 10 ip 172.16.13.254 255.255.255.0 
standby 10 preempt 

 
Answer: C 
Explanation: 

 
 
QUESTION 221 
What are two reasons a company would choose a cloud deployment over an on-prem deployment? (Choose Two) 
 

A. In a cloud environment, the company controls technical issues. On-prem environments rely on the 
service provider to resolve technical issue. 

B. Cloud costs adjust up or down depending on the amount of resources consumed. On- Prem costs 
for hardware, power, and space are ongoing regardless of usage 

C. Cloud deployments require long implementation times due to capital expenditure processes. On-
Prem deployments can be accomplished quickly using operational expenditure processes. 

D. Cloud resources scale automatically to an increase in demand. On-prem requires additional 
capital expenditure. 

E. In a cloud environment, the company is in full control of access to their data. On-prem risks 
access to data due to service provider outages 

 
Answer: BD 
Explanation: 

 
 
QUESTION 222 
Refer to the exhibit. Which command must be applied to R2 for an OSPF neighborship to form? 
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A. network 20.1.1.2.0.0.0.0 area 0 

B. network 20.1.1.2 255.255.0.0. area 0 

C. network 20.1.1.2.0.0.255.255 area 0 

D. network 20.1.1.2 255.255.255 area 0 

 
Answer: A 
 
QUESTION 223 
Refer the exhibit. Which router is the designated router on the segment 192.168.0.0/24? 

 
 

A. This segment has no designated router because it is a nonbroadcast network type. 

B. This segment has no designated router because it is a p2p network type. 
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C. Router Chicago because it has a lower router ID 

D. Router NewYork because it has a higher router ID 

 
Answer: A 
 
QUESTION 224 
Which antenna type should be used for a site-to-site wireless connection? 
 

A. Omnidirectional 

B. dipole 

C. patch 

D. Yagi 

 
Answer: D 
Explanation: 

 
QUESTION 225 
Refer to the exhibit. Which two commands ensure that DSW1 becomes root bridge for VLAN 10 and 20? 

 
 

A. spanning-tree mst 1 priority 1 

B. spanning-tree mst 1 root primary 

C. spanning-tree mstp vlan 10,20 root primary 

D. spanning-tree mst vlan 10,20 priority root 

E. spanning-tree mst 1 priority 4096 

 
Answer: BE 
Explanation: 

 
 
QUESTION 226 
Refer to the exhibit. Edge-01 is currently operational as the HSRP primary with priority 110. Which command on Edge-
02 causes it to take over the forwarding role when Edge-01 is down? 
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A. standby 10 priority 

B. standby 10 preempt 

C. standby 10 track 

D. standby 10 timers 

 
Answer: A 
 
QUESTION 227 
What is the purpose of an RP in PIM? 
 

A. send join messages toward a multicast source SPT 

B. ensure the shortest path from the multicast source to the receiver. 

C. receive IGMP joins from multicast receivers. 

D. secure the communication channel between the multicast sender and receiver. 

 
Answer: A 
 
QUESTION 228 
You are configuring a controller that runs Cisco IOS XE by using the CLI. Which three configuration options are used 
for 802.11w Protected Management Frames? (Choose three.) 
 

A. mandatory 

B. association-comeback 

C. SA teardown protection 

D. saquery-retry-time 

E. enable 

F. comeback-time 

 
Answer: ABD 
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